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1 &/l 100 L 11-50 Att 2t hy) 2,000 BR - kwh 18,200 17,815 277 175 —  kn/kWh 0.00 t-CO2/kWh 0| 0.979 O 1.58 28,756 0.000
2 /Il 100 W 11-60 B#t 3t h3v) 3,000 CNG 6,335 Nmi 31,675 31,220 406 175 5.0 km/Nmi 1.96 t-C0O2/1000Nm 12,400 0.986] 12,222 2.32 73,486 0.166
3 &l 100 v 11-70 Ctt 8t k3w 8,000 23] 6,650 ¢ 26,600 26,110 1,334 175 4.0 kn/ 2 2.62 t-CO2/k 2 17,400 0.982 17,07q 7.62 202,692 0.084
4 @Il 100 Vv 11-80 D#t 11t bsv) 11,000 Bk 8,750 ¢ 28,175 27,650 1,558 175 3.2 kn/ 2 2.62 t-CO2/k € 22,900 0.981] 22,47# 8.90 250,758 0.090
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mHREE (FE) HOMNERE, £F+0. REF0. MRN8, BRER HRS 2025648~ 2026438
o mx Hixs—5 48 58 68 78 8A = / 108 118 128 18 28 38 5t
RHERE (kWh/B) -
FET+0 (km/B) 2,600 2,600 2,600 2,600 2,600 2,600 2,600 18,200
1 At =5E+0 (kn/A) 2,545 2,545 2,545 2,545 2,545 2,545 2,545 17,815
XN (/) 40 40 40 40 40 40 40 277
FpxmzEr (E/8) 25 25 25 25 25 25 25 175
PAVEFIE (Nmi/A) 905 905 905 905 905 905 905 6,335
E7+0 (km/B) 4,525 4,525 4,525 4,525 4,525 4,525 4,525 31,675
2 Bttt =E&E+0 (km/B) 4,460 4,460 4,460 4,460 4,460 4,460 4,460 31,220
xR (h/B) 58 58 58 58 58 58 58 406
#hXEIE ([@/8) 25 25 25 25 25 25 25 175
RYERE (0/7) 950 950 950 950 950 950 950 6,650
FET+0 (km/B) 3,800 3,800 3,800 3,800 3,800 3,800 3,800 26,600
3 Ctt EE+0 (km/B) 3,730 3,730 3,730 3,730 3,730 3,730 3,730 26,110
XN (/) 191 191 191 191 191 191 191 1,334
FpxmEr (E1/8) 25 25 25 25 25 25 25 175
PAVERIE (¢/7) 1,250 1,250] 1,250] 1,250] 1,250| 1,250] 1,250 8,750
E7+0 (km/B) 4,025 4,025 4,025 4,025 4,025 4,025 4,025 28,175
4 D%t =E&E+0 (km/B) 3,950 3,950 3,950 3,950 3,950 3,950 3,950 27,650
X2 (h/B) 223 223 223 223 223 223 223 1,558
#hXEIE ([@/8) 25 25 25 25 25 25 25 175
RHERE (0/7) 1,550  1,550] 1,550] 1,550|  1,550]  1,550] 1,550 10,850
FETF0 (km/B) 4,400 4,400 4,400 4,400 4,400 4,400 4,400 30,800
5 Ett EE+0 (km/B) 4,300 4,300 4,300 4,300 4,300 4,300 4,300 30,100
XN (/) 280 280 280 280 280 280 280 1,960
- EpkmEEy e/ L 25 25| _2 25| 25 25 _°25 1 _ — — 175
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10 =#+0 (a/A)
WEI (1o/8)
WEE (T)/A)




